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1 Atemg arry four tusetions
() Frplainthie cont e of wenting eayrial cyhe,
() erplain cornbined leyerpgs
(€)  Erplaln the nesd of recaisstie rriaragareaes
() Explain the tisk and tevire trade o4
(2)  Erplain preditabilit istes
(N Explainthe concegs of sine gipdend.
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d Lrplain the trialn chjectives of finzreisl rrarpgeroeet. YN & D dflersrcs tonwest spofly
mazimiration and weashth masimization chpetiye?
3. Explain the contept of tiene value of ey Lighen vtvns techriguss of Sres wiie of ey
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4, Erplain various long term sources of fmmu Vivat are e adwmrtapss wt T
these sources?

5, Explain the concept of capital budgeting Explom variows werrrimuss of ptE ulgeieg, Wb
is the difference between KNPy znd tve?
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6. What do you mezn by capital structure? Explaim variows farmoms ey o’ o

decisions.
i memafnrmmdmdkhmaﬂmb&-ﬁgmmw
proportions. Compute the WALC from the foliowing:

Sources of funds Amournt Progortion ef } Coxof caiew’

Debts

Preference shares

Equity shares

Cost of retained earnings
Total
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Explain the relevance and Irrelevance theorles of capital structure,
Invisible Ltd, supplies the followIng Information for calculating the working capital, Firrn levels of
activity Is 2,40,000 units. The cost structure particulars are;

Cost Per Unit (Rs.)

Raw materlals 30
Direct labour 10
Over-heads 20
Total ) 60
Profit 15
Selling price 7D

(a) Raw materials are in store on average for 1 month,

(b) Work In process (100% complete In regard to materials and 50% for labour and overheads for
half a month’s production.

() Finished goods remain in godown on average for a month.

(d) Suppliers one month to customers 2 months (calculation of customers may be made on
selling price).

(e) Minimum cash balance required Is Rs. 30,000.

(f) The production Is evenly throughout the year,

(16 Marks Each)
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